M2 - T2(3]) - MISAKY - BES ollAbol ] Hm=2
10,831,585 8,610,203 2,221,382
= 107,708
& 1,396,417
Al 9,327,460
LA s - SE) 3,604,343 2,422,395 1,181,948
= 76,700
== 585,560
Al 2,942,083
3,604,343 2,422,395 1,181,948
= 76,700
= 585,560
Al 2,942,083
460, 152 281,880 178,272
30,708 0 30,708
04 JItHZ22XsSES 30,708 0 30,708
AtEsOF GIERF C1Z4H|
76,960 *3H* 133! 30,708
3,100 3,100 0
3,100 3,100
9 az2x 202 = HE
1,000,000 x 14! 1,000
g 9| AL
70,000&*x15H*23] 2,100
300,000 200,000 100,000
300,000 200,000 100,000
+ETAZ
300,000, 000& x 1A 300,000
126,344 78,780 47,564
AFE X 126,344 78,780 47,564
SO JIRH(BIAIE S, =HAHZT]) X
50%
249,592,000 = 141%50/100 124,796
OUet Al t=E SESI HEEY EX(BEES 70%)
33,000 %6721*70/100 1,548
dE 29 341,925 102,425 239,500
| 14,925 14,925 0
| 2,000 2,000 0
SAld 22l 2 EE=SHE S
1,300,000 x 14! 1,300
Molgigsl BA Ao
70,0002 %10 *13] 700
12,925 12,925 0
SEME XIHX BHE2I & EFOIOT e
12,925




2A: RSX
HIM: SME RS(SHLSN/ s - 55)
&Pl 7SS (CHo: X 2l)
SA - B . SIS - NRAY - BaS ofl Ao ] HIS2
—XIHXE HHE2] e
6,765,0002 % 14! 6,765
—XIHXt & EFOIO] P
418,000 % 10H 4,180
— XA § EFOI e
198,000+ 10K 1,980
307 2I2+0| & 20,000 17,500 2,500
02 QIFAAAIRIE X 20,000 17,500 2,500
OSFSAZSSSHE A FIINMEH(1-MCP) X
(BXE 50%)
40,0002%1,000m x50/ 100 20,000
401 A& HIL 2 0HY| 265,000 265,000
01 Al&H] 265,000 265,000
OYFSASRELNH A&
265,000,000 * 1Al 265,000
405 XHAHE SH 42,000 40,000 2,000
01 XA SEF SH 42,000 40,000 2,000
OYFSAZRELNH TRIE 2
70,0002 *600H 42,000
SAS0BHE R 803, 100 757,500 45,600
307 2I2H0I A 803, 100 757,500 45,600
02 QIFAAAIRIE X 803, 100 757,500 45,600
OZFZAZ 1S BUC TR2NME AL 803, 100
—T2|0|Y FESAS E5HEYS NR(EXE
o) 5,00024%100, 0004 Xt 500,000
—T2|0/Y YEsM2 L PBEAEM KR(EXS
50%) 87,500
- I20IY ZHH(EBEE 50%)
2,0002%20,00004*50/ 100 20,000
PRBIETH(EXE 50%)
1,50021%90, 0000K*50/ 100 67,500
—HAT=A2 AEN USXR(SRH| 5& EY)
(BXE 50%)
700, 0002 47 EHHI* 742 %50/ 100 103,600
—AZ=A2 SE0PIE 2 SUHAANEMNS,
AL, XN S BHIXH(EXE 80%)
2,500,0002 *563|%80/ 100 112,000
SASLZR[(GAP) O1F XY L AKX EAl 22 158,400 137,400 21,000
201 LBt Y 1,400 1,400 0
01 AFR2t2IHI 1,400 1,400 0
OGP 2 24X £ E22 HIZ
2,000*350 223 1,400
301 LEHEAS 157,000 136,000 21,000
14 J[EIE A2 157,000 136,000 21,000
OGAP 21T =2 XIZ 70,0002 %1002 7,000
OGAP Sk MIE - HZE - Jb2H| KI2(BXE 50%)
3,0002/%100, 000kg*50% 150,000




M SSX3AL
TR SAE SE(SENLSM/EY - 5E)
el #SIIEE (EERSED)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
sE4E RSELE N3 50,000 50,000
301 LBtE&Z 50,000 0 50,000
14 JIEtE43 50,000 0 50,000
OHBBSHE SEXAS X
50,000,000 1Al 50,000
(=)3s48| 45,400 0 45,400
= 22,700
& 6,810
Al 15,890
307 2IZt01 & 45,400 0 45,400
= 22,700
& 6,810
Al 15,890
02 SIHABAAMHEES 45,400 0 45,400
Osag ZEHEY N
90,800, 0002 % 141x50/100 45,400
= 22,700
& 6,810
Al 15,890
(2)APHEHEA K& 108,000 104,000 4,000
= 54,000
& 16,200
Al 37,800
201 et | 78,000 82,000 A4,000
= 39,000
= 11,700
Al 27,300
01 A2l 78,000 82,000 4,000
OFMT G EBS OFA 24
78,000,000 * 1A 78,000
= 39,000
& 11,700
Al 27,300
301 LEtBE= 30,000 22,000 8,000
= 15,000
& 4,500
Al 10,500
14 J|Et2 43 30,000 22,000 8,000
OGAP QIB=Dt oM e HA| KA
30,000,000 14! 30,000
= 15,000
& 4,500
Al 10,500
(Z)SUERERTNEXIAAY 265,600 221,440 44,160




M SSX3AL
NE: SA2 RE(SRHLLM/SY - 5E)
el RSIIERS (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
& 79,680
Al 185,920
307 2I12t01 & 265,600 221,440 44,160
& 79,680
Al 185,920
02 QIZHAAAIIE X 265,600 221,440 44,160
OsttE 88 F2Md X 265,600
~S80PIE FXSA
232,000,0002*141x80/100 185,600
& 55,680
Al 129,920
—& S ZTET XA
200,000,000 *141x40/100 80,000
& 24,000
Al 56,000
(Z)HAHAH SASOHE L Z ALK 13,000 13,750 AT50
& 3,900
Al 9,100
201 et | 13,000 13,750 AT50
& 3,900
Al 9,100
01 AtR2teld] 13,000 13,750 AT50
OMMED B8 QHEE2IAl
13,000,000 14! 13,000
& 3,900
Al 9,100
(E)=saSU KRS s2LRR 53,900 32,000 21,900
L= 16,170
Al 37,730
307 212t0] & 53,900 32,000 21,900
& 16,170
Al 37,730
02 QIRHAAIAIEE X 53,900 32,000 21,900
Osag MUIRSIlS 243
77,000,000 *141x70/100 53,900
& 16,170
Al 37,730
(ENEsMEERYBH DAY 174,000 42,000 132,000
& 34,800
Al 139,200
402 QIZEXHE0| A 174,000 42,000 132,000
L= 34,800
Al 139,200
02 QI A E X (01X THE) 174,000 42,000 132,000




SN R

=
NE AR SE(SUHLM/SL - SE)
&Pl 7SS (CHo: X 2l)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
Ot sitE =5 MIAMS
290,000,000 *141%60/ 100 174,000
& 34,800
Al 139,200
(E)sENIASEALSIR A (FHEAL) 214,200 0 214,200
& 153,000
Al 61,200
402 BIZHRHE0| ™ 214,200 0 214,200
& 153,000
Al 61,200
02 QI AL B X (01X ) 214,200 0 214,200
OSMSMARSIIHPE
306,000,000 *14%70/100 214,200
& 153,000
Al 61,200
(Z)UAMAUNMEXXNSSALSHHSIAIA 466,666 0 466,666
& 140,000
Al 326,666
402 QIZEXE0|H 466,666 0 466,666
& 140,000
Al 326,666
02 QI EALE X (01X ) 466,666 0 466,666
OMAMMNEERXFSAIEE LKA
933,332,000 *141x50/100 466,666
& 140,000
Al 326,666
(Z)stEN2RSHHRASIIR 450,000 0 450,000
= 135,000
Al 315,000
402 QIZEXHE0| A 450,000 0 450,000
& 135,000
Al 315,000
02 QIZINI AL B X (01X ) 450,000 0 450,000
Osdg H2SSHEH 25 X
750,000,000 *141%60/ 100 450,000
= 135,000
Al 315,000
DRSS (YIS HT/LBrAT) 1,069,000 739,000 330,000
& 110,000
Al 959,000
SHS&NF 1,069,000 739,000 330,000
& 110,000
Al 959,000
SS4= HAHZ XA 369,000 316,000 53,000




M SSX3AL
Do I SMER( LB Qo)
el DIHSANF (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
201 LEt23| 12,000 12,000
01 At22teld| 12,000 12,000 0
OZFAl SE4F SN 2357 A
1,000, 000& x24! 2,000
OZFAl sS4Z o2l g8
10,000, 000 * 14! 10,000
301 LEtE&Z 150,000 100,000 50,000
14 J|Et2 43 150,000 100,000 50,000
Ogx =SUE 2238 N2 (EX2 50%)
20,000,000&*153|%50/100 150,000
307 212t01 & 207,000 204,000 3,000
02 QIRHAAAIEE 207,000 204,000 3,000
Ooflel =82 8 XNA(BXE 50%)
240,000,000 *141x50/100 120,000
OlAAE = EEES XA(BXS 50%)
100,000, 0002 *141x50/100 50,000
Ot HIZULIA =E4ES| NJA(EXE 70%)
28,571,000 = 141x70/100 20,000
OF= 22502 12 +EET SRHA X2
(BEE 70%)
24,285,000 *141%70/100 17,000
(Z)sAE2UAEEIA 20,000 13,000 7,000
& 6,000
Al 14,000
307 2I2t0| ™ 20,000 13,000 7,000
& 6,000
Al 14,000
02 QIRHAAAIEE 20,000 13,000 7,000
OsAEZEZAEEXA
20,000,000+ 14! 20,000
& 6,000
Al 14,000
(ENESMEESTHIXIR 400,000 250,000 150,000
& 104,000
Al 296,000
301 LEtBE= 400,000 250,000 150,000
L= 104,000
Al 296,000
14 JIEtE 43 400,000 250,000 150,000
QUi sdts =E=FH XY
1,000, 0002 *4000H 2~ 400,000
& 104,000
Al 296,000
g & B2 280,000 160,000 120,000
307 elztold 280,000 160,000 120,000




2A: SEXAD
I INSHSB(LLDIUT/ULHE)
ol =S uF (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
02 DIRFIAAIRIEE 280,000 160,000 120,000
O+2)/2 12l HRWE S XM (EXS 80%)
25,000,0002* 141x80/ 100 20,000
OYTAl 24 SSHE Gie 22Tt BEX
XIS(BES 80%)
25,000,0002 % 141x80/ 100 20,000
OYFAl 201 S4 M 235t NA(LEXS 80%)
20,000,0002 157§ 480/ 100 240,000
YRS (sHoYri/ s - s&) 58,580 55,222 3,358
WEREJH L3 58,580 55,222 3,358
USEEX DAY 25,000 25,000 0
201 2Br2| 5,000 5,000 0
02 32=2ZH| 5,000 5,000 0
OMDIZAX AFZ4EOlE 2243
5,000,0009!%13] 5,000
307 CIZHOIA 20,000 20,000
02 DIRIFAAIRIEE 20,000 20,000 0
OYSAL E22 N(BES HH)
20,000,0002%13] 20,000
AFAY, S AEHIXE 33,580 30,222 3,358
307 CIZHOIA 33,580 30,222 3,358
02 DIRFAAAIRIEE 33,580 30,222 3,358
OYZM, (58 ZE=IF MEH| N (BES 50%)
33,580
-4 3162%80, 000kg*2IH A*50/100 25,280
—0fset 832%200,000kg*50/ 100 8,300
EPIBIE (SEHL /=Y - 55) 1,848,782 1,221,520 627,262
= 5,250
Al 1,843,532
SN2 B 1,848,782 1,221,520 627,262
= 5,250
Al 1,843,532
EFPNISRS 409,482 87,000 322,482
101 2I21] 119,882 0 119,882
BIFE EEP=T=ES 119,882 0 119,882
OUZAl HEOIE Y Sii2 ATBINE 22
2,300,000 %2000 A+ 1% 46,000
OEDHeH #A 22 Q¥ Aol
76,960 21482 x1 %2071 A 73,882
201 2Br2| 289,600 87,000 202,600
01 At=2elt] 289,600 87,000 202,600
OMEN SSA2 MBHE AXIZ
2,500,0008*123] 30,000
OUTAl HEOIE Y5 sS4tz MBI MAIE
ESS 50,000




A RSX2
B SO0 (SYHLLL S - 5E)
o9l sS42 £ (ctol: F21)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
=g I 2
4,500,000&* 1070 2 45,000
—22 2 NF
50,0002 *10IH*10JH 2~ 5,000
OUEAl CHEDIE S5 sSitE JEilY 23
209,600
—R2 (T, 2B, 1, 2 5)
100, 000 & *82l* 122 +200H A 192,000
—Ea0 o BE2
60,0002 *3Z*2000 A 3,600
~EBERE 2U(HA L AA )
50,0002 *4 412000 A 4,000
—AEHT P
1,000 *1,0000H* 104 2~ 10,000
=n2s 20 238, 600 180,600 58,000
201 LEtE23| 102,600 44,600 58,000
01 At22teld| 72,000 14,000 58,000
OOBIEE0 e 280 THE g2= +8
100, 0002303 3,000
OIBEENHY =&XE Xz
600,000 *1CH*30=] 18,000
OUIDIOtE =8t HE=A S20HE
10,000, 0002 14! 10,000
OsSH2 228 MY 2 29 41,000
—SE4E SEFAA AlA] - ASE sS4=E 12
500,000& 102! 5,000
—ssN2 NBHA BAHE WX
2,500,000 *24! 5,000
—=sStE JE-HA MAES 7Y
100, 000&*321* 104 3,000
—sSiE JHEAL EE S5 ME
500 =4, 00004 2,000
—sSS4E BEE (g 49 MAH(Q4), Atnt
St2, 4t) 1,000,0003 34! 3,000
S=M2 BES I 2
3,000,000 * 14! 3,000
—ES42 N U AEBBAIR ATETY M
1,000&*10, 0000124 20,000
02 Z323H| 5,600 5,600 0
OsS&2 28208 d)|Ie3
50,0003 * 11 Ax 123 600
OsSas 2B SAEL
5,000,000 14 5,000
03 &AH2ZEH| 25,000 25,000 0
OUTA SSaE FEE #Al
12,500, 0002 +23] 25,000
307 2IZ2t01 & 136,000 136,000
02 QIHBAAMHEE 136,000 136,000 0




A RS
M SHIPIZ(SHHLT s - 5E)
Ce SSME 22 CEEEED
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
OYF=SA2 2t0IEAHMHA T XR(EXS 80%)
5,000, 0002 *47H 2:%80% 16,000
OYFSSH2 EAT B XI(2XS 80%)
25,000, 0002 *BIH 2-+80% 120,000
MAAHY B2 970,000 700,000 270,000
301 LEHEXZ 520,000 300,000 220,000
14 JIEIE 42 520,000 300,000 220,000
O=efel AFFY ALS SoIXA
250,000,000 %23 500,000
OGFAHERS SO L T22M
5,000,000 %43 20,000
308 REXISHRISOIA 450,000 400,000 50,000
11 B 2SOCHEH-E AR IE A 450,000 400,000 50,000
Og=Al sS4t 2210 0BIE At
450,000,000 % 14! 450,000
SSEASTLSHAIXA 166,200 165,920 280
201 LBty 81,200 81,200 0
03 SAr2 2] 81,200 81,200 0
OZE sSA2 BONEAL 4 59,200
N E=1=] 5,000,000 1070 A 50,000
—AXB (MY, 22 S)
200,000 *20H 4,000
—B40H (A L BE)
60,00024%20H 1,200
—HARRE(FAl L AlA 5)
500,0002 *4Z5#23] 4,000
OsSes S4d &)}
5,500,00094%43] 22,000
301 LEHERZ 5,000 4,720 280
11 SAAHIXII2 5,000 4,720 280
OZE sSA2 BONAH i 5,000
—ES3A BXY
100,00024%10Z x5 5,000
307 2I2t0I ™ 80,000 80,000
02 QIFE &AL B = 80,000 80,000 0
OsAZUs| S2HSHS NA(2XS 80%)
2,500, 00024 x47H A*80% 8,000
OTUUYRE D& STTE X AY
(B8 JHH) 6,000,0002* 12742 72,000
AL XA 47,000 70,500 23,500
307 2I2H0IA 47,000 47,000 0
04 QIZFHAIAFRIE X 47,000 47,000 0
ONIDIDIE FFE2EM AHISA HAHEZS 50%)
20,000, 0002 *23]%50% 20,000
OUEAl HFESHR AHIZX SAHBEES 50%)
10,000, 0002 *43]%50% 20,000




SN SRS
M SLOPIE (SHHYSL/ 5 - 5F)
el sSeE 88 (chel: & 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OZUHEM SM2 AHIEX HAHEXS 80%)
4,375,000 %23|x80% 7,000
(C)sAZZUHEEI 17,500 17,500 0
[ 5,250
Al 12,250
307 2I2I0IA 17,500 17,500 0
[ 5,250
Al 12,250
02 DIEEMAIRIE X 17,500 17,500 0
OsAEZUE=EXA 2.500,000+73] 17,500
[ 5,250
Al 12,250
SR L (=YL =L - =F) 628,260 572,360 55,900
[ 13,770
Al 614,490
SEAE BUC Y 628,260 572,360 55,900
[ 13,770
Al 614,490
24 SEAS HYC ISR 63,560 63,560
201 LB 63,560 63,560
01 AlR2r2/H 63,560 63,560 0
OSAIYEE A0S0 ALSHE (AL QlAH BH2)
20,000,000 +3% 60,000
OXIETHARA SIXt AFRE
150,00024*20% 3,000
OsSH2 B-E AR MoRs| Ealsy
70,0002 +8H*13] 560
TR HE ALY 518,800 456,800 62,000
307 2I2I01A 518,800 456,800 62,000
02 DIEEAMAIRIE X 518,800 456,800 62,000
OZEJ|olat ZTA HME XN (EXS 40%)
2,0002%100, 0000H*40% 80,000
OYFAl Re=S42 MEBARK TR X
(BES 40%)
1,25024 %20 +7 , 5200H*40% 75,200
OsSie BS(58) 2us I X
(BXE 40%) 439,000, 0002 * 1 A1%40% 175,600
OsSite 3S(Sg) 2 T8 I
(BES 40%) (A2 E2AIY)
125,000, 0002 * 1A140% 50,000
OUZ=A|l AXXS BHT TR KA (BES 40%)
1,00024x25%25, 0000H*40% 20,000
OYZ=Al DEX D0 OF TR K (BXE 40%)
1,25024x225%16,0000H*40% 16,000
OAMA 22 0|2 =220t ZA A XY
(BXE 40%) 1,25020%40, 00004 *40% 20,000




M SSX3AL
B DU P (SHLLM/ S - SE)
CHol: E=SA2 SR JfY (crel: 12l
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
O=JI08 PBe 22N H& N (25s 40%)
1,250 *80, 00001 *40% 40,000
OYZEAl S20+ ZZT XA (SES 40%)
1,500&*10,0000H*40% 6,000
OZGFAl AFCIHAZY ZIXTY XA(BES 40%)
1,200& 25,0000 *40% 12,000
OYFAl DEE =2 I K2 (BEXS 40%)
1,500& *40,0000H*40% 24,000
(R)ZE 2ax=ts BHEst 20,000 20,000 0
& 6,000
Al 14,000
402 212EXHE01M 20,000 20,000 0
L= 6,000
Al 14,000
02 QI A E X (01X THE) 20,000 20,000 0
OAS 24=42 HEAST NAY
20,000, 0002 *2IH 2 *50% 20,000
& 6,000
Al 14,000
()G ssEHE=RY X 25,900 0 25,900
& 7,770
Al 18,130
307 2120l ™ 25,900 0 25,900
& 7,770
Al 18,130
02 QIRHAAAIEE R 25,900 0 25,900
O EHESHXA
37,000,000 *1A1%70% 25,900
& 7,770
Al 18,130
YHRS (ML Y - SE) 234,800 47,000 187,800
22| 234,800 47,000 187,800
Q=2 X3 234,800 47,000 187,800
301 LEtBE= 218,000 32,000 186,000
14 JIEtE2 43 218,000 32,000 186,000
O4r2d x| XA (BEE 50%)
34,000&%10,000&*50% 170,000
O =4t ey X (2BXE 40%)
4,000&*30,00024*40% 48,000
307 2I2t0| ™ 16,800 15,000 1,800
02 QIRHBAAIEE R 16,800 15,000 1,800
O s ZEM ME X2 (EXS 40%)
1,500& 28, 00001 *40% 16,800
SABMUSH (NS =Y - &) 2,155,376 1,530,223 625, 153
= 31,008




2A: RSX
HIM: SAZAASH(SHLSM/ S - =55)
CHel: StgAl (Ctel: ®M2)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
< 337,473
Al 1,786,895
mE=EN 2,155,376 1,530,223 625,153
= 31,008
[ 337,473
Al 1,786,895
EImE=NINE 444,166 431,946 12,220
307 2I2H0| & 216,957 216,957 0
02 QIFAAAIIE X 216,957 216,957 0
OZBAIRIA! XA (BEE HH)
1,3002%5,563E %303 216,957
308 XXIEHRISOIA 227,209 214,989 12,220
08 WEIZ0ICHEHE =X 227,209 214,989 12,220
ORI Ol SAI2 2$A4TE 2H XY
2102%717H180L 27,103
OKX 2434 1A
200, 105,520 % 14! 200, 106
(R)xSE2Wa WUz T 62,016 67,260 N5, 244
= 31,008
[ 9,302
Al 21,706
307 2I2H0I & 62,016 67,260 N5, 244
= 31,008
[ 9,302
Al 21,706
02 QIFBAAIIE X 62,016 67,260 N5, 244
OZSE=SnNA NHY2HA! X
62,016,0002 % 14! 62,016
= 31,008
[ 9,302
Al 21,706
(C)EE A2 NSAIRR 1,640,794 1,022,617 618,177
[ 328,171
Al 1,312,623
307 2I2H0I A 1,603,09 996,027 607,069
[ 320,631
Al 1,282,465
02 QIFAAAIRIE X 1,603,09 996,027 607,069
OFsdsAE a4l X9(sE4E)
1,603,096, 0002414l 1,603,096
[ 320,631
Al 1,282,465
308 RIXISHHISOIA 37,698 26,590 11,108
[ 7,540




x = ~ ~ ~ ~ ~ |8 (8|8 |8
H o = o o o o e ..
y E 3 3 J J J
o
3 SEE 2 2 slels slels 2 2 2 SEEEE
@ SN & & SANARA RIS 5 5 5 “FEREIIRE
S @ | | o o 77 e 3 2 3 SRR
LH = ) S & & & T
ikd . . . . .
KIS
o |0 [ee] 1o | |© [l (o] O 1O O 1O |1 |1© o IO |10 |1© o O O |1O O |1O (e} O (@)
B8 88888 SIERRER8SEE EBIEIT B¢ BREE BECRRRIARTE
S |% &~ S|P |°(® *IBISIB IS A A A A TIEFISITE T I|E ¥ 3 S|nlo o |¥N|N
— o) 0O — o 0O — o) 0O — o) 0O — — o) OO
3 - - - - =
<l
S
= W = W=| W= H=| W= W =
Ed S o] o] el o
* = B % o N
o _ 5 8 8 5 3
S R = - - S =
m:.w = R < o o] = z
as o o o o o <o) x
Bl PGS o 3 3 Q) oF)
W : LS K8 S S 5 2
2 a5 = = X 3
-~ ol 0
a It ® = oo <+ —
= < z w | N o W
<! * < = mﬁm 0o [ 2
S1E | |5 W[ ¢ T < & &
o0 T - K = 0] ol M B ~
= io} 1 er - ok 1o 9 3 o o
o ~ o] ™ < - [} <0 — &J iioJ —~ —
a0 oF 5 (R b IR [ = 5 B ) ol
0 or g 7 i 3D Ok — = _ | = = g 2 = N N
X 0J s < = < 3 ~ = |z OF odl = E= D Ulo S o Or oD
0 - 0 < |[®|<0 wr o [or Wilglm @ [Z[E|m T |q = 5l = B o K
or &l 10 mle |f /= e 1 e = S Y 3 = M M ol R
w1 3l RO L i R or (2 [0 2 (R [0 EH A R o K0 % o) (OF <
waz| X el el T TR R G S el U = N = K sl_EP)EY
=Ml g g © RS |y © I wisls © sz © M < g © RiER|sls ©
Wo =r o o[ rd ] 0 | ERER M 2 80 RO () [N
OF 40 or ) Hio E <r ol = o [ [S
A < ol 7 |~

x|
10




2N SEXH
HE: MYSHAH|(KEXIYD) (IIEHIIE
o2t J|=3H| (crel: M
A EB - SRI(E) - KIRAY - BaS ol v ] HIDE2
OSZ20HAlbl 8,000 *6A!x 14312 8,064
Ot 100,000 %12 1,200
OARZ TARYUH 50,0002 * 122 600
OARD 2| 8,080
—=2A| ¢ 1,000,000 *1CH 1,000
—IRIE 22 100, 0002 *4CH*50% 200
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